C:# Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182+ 6=29r5 \
checked by multiplying the 39 29 1
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2.
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1792@ |3
1 331:7=41r3 2) 971+2 =485 4
5.
6.
3) 038+8=117r16 4) 157+4=17r4 !
8.
9.
10.
5 337+2=168r1 6) 473+9=52r5
7) 574+6=95r4 8) 484+6=80r5
9 237+9=2915 10) 533+4=133r1
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Checking Division Answers Name: Answer Key
Check each answer. Determine if theanswer is'correct' or 'not'. Answers
/ Division problems can be 263 +8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 not
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. not
If the answer is the same as the + 7 + 5
& dividend, it is correct. 263 179 j 3. not
1) 331+7=41r3 41 2) 971:2=485 435 4 hot
x 7 x 2 5. correct
287 970
+ 3 + 0 6. correct
290 970
7. correct
3 938+8=117r6 117 4 157+4=17r4 17
x 8 x 4 8. not
936 68
942 2 10. correct
5 337+2=168r1 168 6) 473+9=52r5 ©52
x 2 x 9
336 468
+ 1 + 5
337 473
7) 574+6=95r4 095 8) 484+6=80r5 80
X 6 X 6
570 480
+ 4 + 5
574 485
9 237+9=2915 29 10) 533+4=133r1 133
x 9 X 4
261 532
+ 5 + 1
266 533
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